& LBE (FROEEEE) CHLEIO—S— b
An—[ 21| hmErH a— K GRERRHIE. 01000~ 470000 A ) 2 BER

BE VER (FR27TFEERE

- camENSE nEs nR PR E
HEREAD 61, 099 BAKNE | BALSE | ARLE RES
BRMEAD 0 B 12,708 - - -
#“ A O 61,099 MK ZH IR ER 387 - - - -
SAEAAD 2,687 ’ C B BRI 0 - - - -
QE B | AR 0 - - - -
EERCH | BRRCH a P D Z Z _
BE&CH 0 0 2 AmEHE R 0 - - - -
A H 9,144 3,252 ZTOMDOERILFETS R 340 - - - -
s [Fma 822 %] i ZDitiES 0 - - - —
;:' BERIH 3,286 54, i INEE 13, 435 - 610 1,594 0
= Z Dtk 16 0 b K ZH A0 IR e AR 1,837 387 666 447 0
_ HKZH 54, 12 Z# HEAR AL B ER 0] 0 0 0 0
g INE 13,322 3,354 | Z A EAFHME R 0] 0 0 0 0
| [zacs 0 0 x5 ms 0 0 0 0 0
e A H 119 193 b2 P S TR 0] 0 0 0 0
¥ "B CH 265 10 ZTOMDERILFETS R 4,035 340 0 3,695 0
Mf BERIH 793 1,281 T D E 0] 0 0 - 0
Z (2o 0 0 INEE 5,872 727 666 4,142 0
# HKZH 611 27 INET (EHEBEEN+hRNE) 18, 580 727 1,276 5,736 0
INE 1,788 1,511 BHEERLELE 1,395 - - 1,395 -
at 15,110 4.865| |EmBRESE 0 - 0 — —
I &t 19,975 727 1,276 7,131
Bt BRLE+ERARILE+ERERRLSE
EERCHWAR 15,110 | EEARLE | BRARELE | £AERE
FEERHHAR 4,865 I‘Fﬁ‘{é 1,252 58 762
£EEIRE 790 D 5 0 1
CHBHHE 20,765 ENEROLE 0 0 0
Eadc ] 0 4N 7
H5 R 0 340 0
ATy MR MY 0 158 0
NEZHGRESH AR H+ TR H+ERTH BRI H+F D) =16,676t/4F BEMLA 0 3 0
SHERSEE IRES B+ EIEWMASH) =19975t/F ERAKTS 0 333 0
CHBHHE GHERER + EFERE) =20,765t/F ek 0 22 0
CHNBE (EERELS S +EEHEHNE BN O RRIMES + EEERILE) =100750 & ks 133 36 10
1A BHIUS HEHER (AT E/BAD) =931g/ AR AR - 0 -
JHAHLE(EBRLBEH +ERAERE])/[CHDER -+ £FHAEIRE]) =38.15% |ﬁﬂ*4 - 0 -
RIS & B R B (ERIMIE R 1R ME % R L B BB %I A5 B) = 11,568t/ 4 [rez 55 - 1,332 -
B - 0 -
ikt - 0 -
exubEEHE - 0 -
tIV LIS E % - 0 -
WTiET - 0 -
e A 5 0 0
Z Dtk 0 2,983 0
&t 1,395 5,736 790




